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Section G1: Grammar Sentences

Choose the correct answer. Only ONE answer is correct. Mark your answers on the Answer Sheet.

Válassza ki a helyes megoldást. Csak EGY helyes válasz lehetséges. Jelölje megoldását a Válaszlapon.

Example: This is ….. very easy exercise.
A. an
B. a
C. the
D. Ø
The correct answer is: / A helyes válasz: B.
1. My mother is ..... engineer.
A. a
B. the
C. an
D. Ø
2. .... you coming to the pub with us?
A. Was
B. Are
C. Were
D. Is
3. I'm having pizza margherita ..... evening.
A. in this
B. the
C. this
D. on this
4. Every Tuesday he ..... his sister in Paris.
A. is phoned
B. is phoning
C. phones
D. phone
5. Is the lighting…..?
A. enough bright for you to read
B. bright enough for you to read
C. bright enough for read
D. not enough bright for you 
6. 
My older brother helped us and we ..... lift the box.
A. succeeded to
B. finally
C. managed to
D. were able
7. ..... the money back in time, they wouldn't have taken him to court.
A. Had he paid
B. If he paid
C. If he'd have paid
D. Would he have paid
8. ..... someone else.
A. I'd rather you to ask
B. I'd rather you asked
C. You'd better to ask
D. It's high time you asking
9. His failure was ..... his bad mood.
A. for
B. due to
C. from
D. result of
10. Not only ..... all the time, but he beat his wife, too.
A. he shouted
B. he did shout
C. shouted he
D. did he shout
SECTION G2: GRAMMAR TEXT

Fill in the gaps with ONE suitable word. The first one has been done for you as an example.

Mark your answers on the Answer Sheet.

Egészítse ki a szöveget a megfelelő szavakkal. A pontozott vonalakra csak EGY szót írjon. Az első szót példaként beírtuk. Írja megoldását a Válaszlapra.

Example:
The correct answer is: / A helyes megoldás: who
WHY ARE BRITISH MOTORWAYS COVERED IN ROADWORKS?

People (e.g.)…who… travel  in Britain almost always complain about roadworks. Building work (11)……… the roads regularly slows down traffic and often causes traffic jams. And it (12)……… actually true: whenever you use British motorways, you (13)……… always see builders fixing or repairing parts of it. You simply cannot get (14)……… one place to another without seeing (15)……… least one building site along the way. So does this mean that motorways are badly built in Britain, (16)……… is there another explanation?

Many of the motorways were built in the 1960s and 1970s and are rapidly wearing out. Extensive projects (17)……… resurfacing and widening these motorways are in the pipeline, but it will take many years (18)……… complete them.

Critics suggest that maintenance bills (19)……… been increased by the fact that the level of traffic has risen dramatically. The growing volume of traffic puts a strain on the roads as they (20) ………. to accommodate a much larger number of cars every day. The large ring road around London, also known (21)……… the M25 motorway, was designed (22)……… about 80 thousand cars a day. Now, it may carry up to 200 thousand cars a day.


Critics also blame the government, because they insist (23)……… building cheap motorways, regardless (24)……… the long term costs. After years of study, the Department of Transport has decided to try out a new approach called “whole life costing”, in (25)……… long term maintenance costs would be taken into account in the design.

Adapted from Focus Magazine, February 1994
SECTION G3: SENTENCE CORRECTION

Find the section of each sentence below that is incorrect. Mark it on your Answer Sheet and write the correct version of the incorrect section in the space next to it.

Döntse el, hogy az alábbi mondatok melyik része helytelen. Jelölje megoldását a Válaszlapon, és írja a hibás rész kijavított változatát az erre kijelölt helyre.

Example: Kevin told his best friend to stop to smoke because it was a harmful habit.


A


B


C
The incorrect section is section B. The correct version of the section is: to stop smoking
A helytelen mondatrész a B. A hibás rész kijavított változata a következő: to stop smoking
REMEMBER TO REWRITE THE WHOLE INCORRECT SECTION ON THE ANSWER SHEET!!!

26.

	My children usually
	go to cinema
	at the weekend.

	A
	B
	C


27.

	Each play give
	an amusing view of life today
	and there's often an unexpected ending.

	A
	B
	C


28.

	Peter's car is very economical,
	because even in rush-hour it makes
	twenty kilometres to the litre.

	A
	B
	C


29.

	That actually happened to
	the ill-fated expedition will
	probably never be known.

	A
	B
	C


30.

	Recently a boy sued his parents
	for $350,000 because he did not
	like the way he was brought up.

	A
	B
	C


SECTION G4: SENTENCE TRANSFORMATION

Rewrite the following sentences so that they begin with the word(s) given and their meaning remains the same. Write the sentences on the Answer Sheet.

Írja át a következő mondatokat úgy, hogy a megadott szavakkal kezdődjenek és jelentésük ugyanaz maradjon. Írja megoldását a Válaszlapra.

Example: 
The cost of the textbook is not part of the price of the course.


The price …


The price of the course doesn’t include the cost of the textbook.
DO NOT WRITE YOUR FINAL SOLUTION HERE!!!

31.
"Please, open all your suitcases," said the customs officer to us.

The customs officer told…

32.
Someone has drunk the Coke in the fridge.

The Coke…

33.
Everyone thought that the plane had crashed.

The plane…

34.
It is impossible that you've read this book.

You…

35.
It is entirely your fault that you failed the driving test.

You have no one…

Section V1: VOCABULARY SENTENCES

Choose the correct answer. Only ONE answer is correct. Mark your answer on the Answer Sheet.
Válassza ki a helyes megoldást. Csak EGY helyes válasz lehetséges. Jelölje megoldását a Válaszlapon.

Example: What ….. is it? Small, medium or large?
A. size


B. make


C. colour

D. flavour
The correct answer is: / A helyes válasz: A.

36. Charles has to wear a ..... and a tie in the office.
A. coat
B. blouse
C. skirt
D. suit
37. My brother's wife has just had a baby so I'm a(n) .......... now.
A. aunt
B. cousin
C. niece
D. nephew
38. Don’t try to get ..... the car when I’m still driving!
A. off from
B. out of
C. off
D. down from
39. The lamp is hanging from the ..... .
A. ceiling
B. top wall
C. cellar
D. overhead
40. How many awards did you ... as an artist?
A. score
B. behave
C. receive
D. pass
41. We need an efficient campaign to ..... our new product range.
A. fire
B. set out
C. set off
D. launch
42. 
The idea of establishing a confectionery business ..... almost by chance.
A. came up
B. ocurred
C. flashed
D. popped up
43. In my present position I am … writing the monthly reports.
A. looking after
B. responsible for
C. liable to
D. made to
44. 
Some employees have a long ..... to work every day.
A. journey
B. travel
C. excursion
D. voyage
45. We operate contracts in Hungary, ..... in size from providing lunch for five to complex operations.
A. decreasing
B. verifying
C. launching
D. ranging
SECTION V2: WORD FORMATION

Complete the sentence with the appropriate form of the word in capitals. Mark your answer on the Answer Sheet. Only correct spelling is acceptable.

Egészítse ki a mondatokat a megadott nagybetűvel írt szavak megfelelő alakjával. Írja megoldását a Válaszlapra.  Csak a helyesen írt szavak elfogadhatóak.

Example: 
All ……………………. must be received before 20 July.

              APPLY ►APPLICATIONS
46.

It is always easy to work with a helpful and ……… colleague. (FRIEND)

47.

Joe likes ……… on the computer a lot. (WORK)

48.

She looks very ……… , you wouldn't tell she is forty. (GIRL)

49.

I dislike ……… in films - they make me upset. (VIOLENT)

50.

My lawyer promised me ……… . (COMPENSATE)

51.

John and I had a very ……… time at the reception. (PLEASE)

52.

A good manager can anticipate and prevent customers' ……… . (SATISFY)

53.

As the study was largely ……… , it was of limited value to us. (THEORY)

54.

The lecturer made ……… to a recent study. (REFER)

55.

 ……… of medical products have already left for the Middle-East region. (SHIP)

SECTION R: READING

Read the following article and fill in the gaps of the summary below with ONE appropriate word. (15 points).

Olvassa el a következő szöveget és egészítse ki az alábbi összefoglalót EGY-EGY megfelelő szóval (15 pont) 
Recession Sees Shoppers Switch from Green to Budget Products

Study finds even ethically-conscious customers swapping to cheaper brands for weekly grocery shop
British consumers who in the past were willing to pay a premium for organic, Fairtrade and eco-friendly goods are now turning their backs on buying ethical in favour of cheaper shopping bills, according to a survey.

It is a trend that is likely to be long-term, according to research, which indicated that three in every five shoppers (69%) say they plan to continue cutting back on organic food after the downturn. Two-thirds (61%) claim they will seek to pay less for ethically sourced foods, such as Fairtrade, when the downturn ends.

The biggest single retail loser appears to be premium brands, particularly own-label high-end products such as Tesco's Finest and Sainsbury's Taste the Difference. Three-quarters (73%) of people stated they would seek to pay less for premium labelled supermarket goods in the future.

The survey was carried out by specialist marketing consultancy Cohn & Wolfe, and its findings are backed up by the latest shopping statistics in the UK, which show that organic food sales in 2008 slowed after more than a decade of sustained growth.

Geoff Beattie, head of Cohn & Wolfe Global Practices, said: "The recession has shaken off the moral veneer of consumers, and a more prudent shopper is emerging. Consumers are now turning away from ethical products, especially higher-priced green goods like organic in favour of a cold, hard bargain."

But he added: "Whilst the savvy consumer is saving money where they can, shoppers will still aspire to stay true to their values."The challenge for retailers and manufacturers is to develop more affordable ethical and green goods to build consumer trust, but without hurting profit margins."

The study also revealed new shopper loyalties are emerging, as food manufacturers and retailers engage in a value contest. In the recession, half of shoppers (46%) feel more positive towards using discount grocery stores.

As a result, two in five shoppers (39%) plan to shop at discount supermarkets more often, and over a third (36%) will continue to substitute well-known brand labels in their shopping baskets with economy ranges.

James Ruane, head of Cohn & Wolfe Food & Drink, said: "With discounters Aldi and Lidl both delivering double-digit growth of 13.6% and 12.3% respectively over the past quarter, this spells good news for low-cost retailers and an acceptance that budget shopping will continue to play an important part in consumer's shopping habits.

However, people still want fresh local produce, seeing it as a hallmark of quality. The survey found close to three in five shoppers (57%) are prepared to pay more for locally produced food as well as fresh fruit, and vegetables and nearly three quarters (71%) will stay loyal to some brands, especially store cupboard essentials like teas, coffees, and cereals.

Sheila Dillon of BBC Radio 4's The Food Programme said: "This interesting research shows that after decades of the one-stop weekly visit to the supermarket, people are learning to shop again: getting their food from a mix of sources. "They still want quality but are sharpening their skills on how you get it. The research also shows how deep the commitment now is in Britain to local food and that provides a real challenge to the organic movement."

Adapted from The Guardian, Monday 6 July 2009
Summary

Recession has brought about a number of (E.g.)___economic___ changes, not leaving British shopping statistics untouched. According to a shopping survey carried out by Cohn & Wolfe Global Practices marketing consultancy, British consumers who used to buy organic, Fairtrade and eco-friendly products at a (56.) ………. are now changing their shopping habits in order to save money. In addition, the (57.) ……….. appears to last longer than the economic crisis.

Findings of the research show that after growing (58.)………... for more than ten years, organic food sales in 2008 were on the (59.)……...

Geoff Beattie, head of the consultancy is of the opinion that as a result of the downturn, consumers’ ethical (60.) ……….seem to be changing and shoppers take more (61.) ……… decisions when selecting products. However, as consumers still stick to their (62.)………., retailers and manufacturers are facing up to the challenging task of developing (63.)…….. ethical and green goods.

Following the economic crisis, almost half of the consumers are no longer (64.)……….. discount grocery stores. (65.) …….. per cent of the consumers are intent to do the shopping at discount supermarkets more frequently and 36 per cent will go on to (66.) ………. familiar brands in their shopping baskets with cheaper ones. Nevertheless, fresh local produce, considered to stand for (67.)…… is still in demand. Nearly 60 per cent of consumers are willing to buy locally produced food, fresh fruit and vegetables at a higher price.

To sum up, there is a trend towards British consumers doing the shopping in a (68.) …….. of shops. Quality is important for them but they are becoming (69.)…….. at getting it. Also, the British are (70.)………… to local produce, which is likely to give the organic movement a headache.

REMEMBER TO WRITE ALL YOUR ANSWERS ON THE ANSWER SHEET!!!
this is the end of your test.
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